Q1 Student ID Number (Your Student ID is printed on your schedule. If you take this survey in class you can ask your instructor to get your ID from the class roster.)

Q2 Has either of your parents graduated from college with at least a bachelor's degree?

ANSWER CHOICES	RESPONSES	
Yes	15.63%	5
No	84.38%	27
TOTAL		32

Q3 Are you now receiving or have you ever received a Pell grant as part of your student financial aid?

ANSWER CHOICES	RESPONSES	
Yes	40.63%	13
No	59.38%	19
TOTAL		32

Q4 How did you learn about PCC? (mark all that apply)

ANSWER CHOICES	RESPONSES	
Newspaper	6.45%	2
Radio	3.23%	1
Internet	9.68%	3
Parent/Family member	51.61%	16
Friend	29.03%	9
High School	58.06%	18
Total Respondents: 31		

Q5 Student Academic/Personal Needs Assessment

Answered: 32 Skipped: 0

	I NEED TO GAIN A GREAT DEAL OF SKILL IN THIS AREA	I NEED TO GAIN A MODERATE AMOUNT OF SKILL IN THIS AREA	I NEED TO MAKE ONLY A SMALL AMOUNT OF GAIN IN THIS AREA	I DON'T NEED TO MAKE ANY GAINS IN THIS AREA	THIS NEED AREA IS NOT RELEVANT FOR ME	TOTAL
a. Clarify my academic goals & objectives for completing my associate degree	21.88% 7	31.25% 10	31.25% 10	9.38% 3	6.25% 2	32
b. Improve my ability to write college-level papers	31.25% 10	31.25% 10	25.00% 8	12.50% 4	0.00% 0	32
c. Strengthen my math skills	32.26% 10	35.48% 11	16.13% 5	9.68% 3	6.45% 2	31
d. Gain a broader understanding of other cultures	18.75% 6	31.25% 10	25.00% 8	18.75% 6	6.25% 2	32
e. Learn to speak confidently in front of people	32.26% 10	16.13% 5	29.03% 9	19.35% 6	3.23% 1	31
f. Develop better study habits & test taking skills	28.13% 9	21.88% 7	40.63% 13	6.25% 2	3.13% 1	32
g. Budget my time more efficiently	25.00% 8	25.00% 8	43.75% 14	3.13% 1	3.13% 1	32
h. Use the computer as an academic learning tool	21.88% 7	9.38% 3	34.38% 11	28.13% 9	6.25% 2	32
i. Improve my money management skills	22.58% 7	19.35% 6	35.48% 11	19.35% 6	3.23% 1	31
j. Develop and improve personal leadership skills	12.50% 4	37.50% 12	31.25% 10	15.63% 5	3.13% 1	32
k. Identify clear career objectives	19.35% 6	22.58% 7	35.48% 11	19.35% 6	3.23% 1	31
I. Develop a greater appreciation for and understanding of current events shaping the region and	16.13% 5	19.35% 6	41.94% 13	22.58% 7	0.00% 0	31

events shaping the region and

world in which I live

Q6 Student Assessment of Services Needed

	I NEED ACCESS TO THESE SERVICES	I DO NOT NEED ACCESS TO THESE SERVICES	THESE SERVICES DO NOT APPLY TO ME	TOTAL
a. Academic tutoring services	40.63% 13	50.00% 16	9.38% 3	32
b. Career Services	40.63% 13	43.75% 14	15.63% 5	32
c. College Transfer Services	31.25% 10	50.00% 16	18.75% 6	32
d. Disability Services	9.68% 3	41.94% 13	48.39% 15	31
e. Counseling Services (academic and limited personal counseling and/or referrals)	29.03% 9	38.71% 12	32.26% 10	31
f. Financial aid workshops & services	45.16% 14	35.48% 11	19.35% 6	31
g. Opportunities to visit and tour 4-year institutions	28.13% 9	53.13% 17	18.75% 6	32
h. Continuous communication regarding deadlines and other college services	53.13% 17	40.63% 13	6.25% 2	32
i. Opportunities to participate in cultural enrichment activities such as attending plays, musicals, museums,etc.	50.00% 16	40.63% 13	9.38% 3	32

Q7 Suggestions/Comments:

Answered: 2 Skipped: 30

7 / 7